Equazioni di primo grado

Risolvi le seguenti equazioni di primo grado.

Esempio: 2y —3 =4y -2y —4y=3 - —2y=3 - y= -
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11.

12.

13.

14.

15.

Ldr—x =2
.6+4=2x

9 —Tr=3

L Adr=2—-x

. 2(x+1) =3z
.x(6—4)=5
6z = —24
z(1—-8) =14
20 —8=2(z —4)

A3z — 2) = 2(1 + 22)

6(x—1)=—2x

3— 9z =2(5x+1)

r+1=7
—152 = 20

34z = 680
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13x —2x =5

16 =7 =5z

S5r — 3 =2x

3(x—4)=2

~13(—-2—3) =5z

Az 42z —6)=0
10(z — 2) = 90

6(2+z) = 62 — 3

3r — (—2x) = -5

21(1 — z) = 7(—3x + 3)

122 — (—3) = 4(3z — 1)

8z = 56

Az +2) =8

4—x=8—=x

{ 3
xr =
4

: indeterminata

: impossibile
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[z = 20; impossibile]

Per info contattare: speak@redooc.com



